Hi Eric (and others who might be interested)
I have tested the “super simple”, capacitive current limiting power supply extensively!

While capacitors are wonderful current limiters, they also have some disadvantages.
I am sure you will be pleased to know that we can go one step further and eliminate the current limiting capacitors altogether!!

Then, it will become a SINGLE (one) component power supply!
The ULTIMATE power supply!
(Sure, there are a few additional parts there but their role is ONLY to switch the power ON/OFF, electronically.)

There will be no need for any other form of current limiting either!
The way to do this is simple.

All it needs is careful adjustment of the number of cells in the electrolyzer.

This needs to be found experimentally since it cannot be easily calculated.

If you have too many cells, you will NOT get the current you desire because the voltage across each cell will be too low.

(I suggest you have a look at the V/A graph for a single cell in my file.)

On the other hand, if there are not enough cells to fill the “voltage window” of your power source, you need to limit the current with capacitors or some other form of current limiting.
But once the correct number of cells are found, the system becomes self-regulating!
Those who have experimented/worked with series cell electrolyzers would (or should!) know that the most important parameters for setting the desired CURRENT are: 

1.  Plate surface area

2.  Distance (gap) between the plates for each ‘cell’ (setting the ‘cell’ voltage)
3.  Electrolyte concentration  (conductivity/resistance of the solution)
4.  Temperature
OK.
If any of you wish to duplicate my set-up, your voltage & current supply limits will be the same as your generator is capable of supplying.

Of course, you will NOT need all the current it can supply just to run itself.

That would defeat the entire purpose of this project!

As an example:  the generator I have is rated 240V, 7kW CONTINUOUS (9kW max.)

So, even IF, I repeat, even IF it used half of its power to run itself (which it won’t!),
that would leave 3.5kW to run LOADS!

Just to give you an idea how much HydrOxy gas you can expect from my set up,

my friend George’s electrolyzer (which he made EXACTLY to my specifications), 
already produces 13 liters/minute with only 8.6A AC current draw from the mains, before being ‘conditioned’!
Now, enter the PF (Power Factor)!
When dealing with AC POWER (WATT), beware of this “strange PF fellow”!

(It seems to confuse even some ‘professionals’!)
In simple terms, PF (cosφ) is the ratio between REAL and APPARENT power.

To explain:  
In the case of George’s electrolyzer example above, note that the consumed REAL power is NOT the voltage (240V) multiplied by the current (8.6A) reading, which is 2064W.  

2064W is just the APPARENT power.

But since there is a capacitor in the AC line, the PF is no longer 1.00 but lower.
The PF is 1.00 ONLY for purely resistive loads.
Once the load becomes capacitive and/or inductive, the PF drops below 1.00.

(How much lower depends on several things.  
For example: 
When I ran my 6 cell “demo” electrolyzer with the capacitive current limiter directly from 240V AC, 10A AC current draw , the power factor (PF) was only 0.06 to 0.07!  

So, APPARENT power was 240x10= 2400W.

BUT when multiplied with the PF of 0.06, the result is 144W!
That was the REAL power used.)
See the HUGE difference?  

To double check, I made a quick test with one of my instruments ( a cheap one) which measures V, A, W & PF, one at the time.
It computes (multiplies) the V, A & PF readings and displays W.
And, surprise, surprise….it displays VERY close to the value I calculated, using the PF!

At present, George is using a capacitance of 300µF in his power supply.

The capacitive reactance of 300µF (AC ‘resistance’ at 50Hz) is 10.6 Ohms.
It “passes” a current of 8.6A in his set-up.  (measured with a clamp meter)
For those who intend to use the capacitive current limiting method:
Make sure you understand how it works, otherwise you may end up thoroughly confused!

The “confusion” comes mainly from the fact that a capacitor’s ‘reactance’ is INVERSELY proportional to its capacitance!

In other words: the HIGHER the capacitance, the LOWER the ‘reactance’.

Consider this:

The experiment with the 6 cell electrolyzer I described above used 135µF for a current of 10A (AC) but George’s 120 cell unit used 300µF for 8.6A (AC) and if it is to be increased to 10A, it will need an additional 20µF – a total of 320µF!
Do you see what I mean?

In both cases the current is 10A but the capacitance is 135µF and 320µF, respectively!

Please note that when REAL power readings on ANY circuit are taken on the AC side, ALL losses are included in the results.  

Further, note that the loss (heath) in the bridge rectifier’s 4 diodes is CONSTANT, REGARDLESS of the number of ‘cells’ in the set-up.

(That is because the SAME current is flowing through every cell.)
To put this in practical terms:  
The bridge rectifier gets just as hot with 1 cell as with 120 cells (or more), so a fair size heath sink is required to properly cool it, regardless of the number of cells in the set-up.
To the keen observer it should be obvious that while that loss is CONSTANT, it is significant when running just a few cells (or just 1) but becomes less and less significant as the number of cells go up. 

My advice to those who try to measure REAL AC power is:

Know & understand the parameters you are trying to measure and use instruments designed for those measurements.
(Otherwise you may end up with totally false results!)

Yes, I also have precision instruments which measure all parameters (V, A, W & PF) with rated accuracies ranging from ±1% to ±0.2%, so the results are not misleading.

I use this opportunity to make a couple of comments on “resonance” electrolysis and the seemingly endless guesses/speculations/arguments on the methods and principles employed by Stan Meyer, Puharich, Dingle, Herman Anderson, etc.

IMHO, all that speculation will NOT get you any closer to your goal but is just a waste of time and Forum “bandwidth”!  Period. 
As for “resonance” electrolysis, the real situation is this:

To the best of my knowledge, to this very day NO ONE has come forward, offering such a system ‘open source’.

Make no mistake, resonance ‘electrolysis’ is real.

But again, since no one is offering such a system at present, how long will it take you to develop one?  5 years?  10 years?  

Mankind is out of time, folks!
Why do you think I did not take that road, being an “electronics guy”?

Perhaps some of you don’t like to hear all this but so be it!

Simply because I know (and have known for many years) that we can run engines WITHOUT going to all that trouble. 

Let me be even more blunt.

Consider this: 

Suppose you have solved the problems associated with “resonance” electrolysis and you are able to run the engine I mentioned above with, say, 200W instead of 2000W.

This would mean that you would have 1800W more for loads than the ‘crude’ set-up we are discussing here!

Do you see my point?

If not, let me spell it out.
All of you have the following options:
1.  You can use the next few years developing such a system (requiring, say, 200W), OR,

2.  Run an engine right now (as soon as you drop your disbelief  and decide to get off your ass) with the existing technology available to you, using perhaps 2-3kW to run itself but you have enough ‘left over’ to run your house on FREE electricity.  OK?
So what is it going be?

Oh, and don’t look blindly at my system only.  

Others have similar systems also.  Working.

End of story.

Best regards,

Les Banki
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